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INSTRUCTIONS/3raer

1. Booklet Contains 50 questions.
gRTepT H 4 € | 50

2. All questions carry equal marks
ot 8T % 37 FHAM £ |

3. There are four alternatives for the answer to every guestion. For every wrong answer one third of the marks

assigned to that question will be deducted as penalty. _
U I & IR P foIT IR e o2y &) Iiep el SN & fofT, S U & iR aiel & I T f8Ts oY & & U & hieT S |

4. If a candidate gives more than one answer, it will be treated as wrong answer even if one of the given answers

happens to be the correct answer.

Ife P IfieaR T A 31 TR T 8, AT S TTeTd ST HIHT S, el &1 2T 77 IR 5 F BI Uop Hel ST &l |

5. Answer will be marked on the OMR Sheet by filling circle in ink.
FTR DT RTET H FdheT TR INTHINR ofie W 3ifehd fovam e |

Q1.
and Hiuen Tsang Chinese travelers did come to
India?

a) Chandragupta and Ashoka

b) Samudragupta and Pulakeshin I

¢) Chandragupta Il and Harshavardhana

During the reign of which Indian rulers Fahien

d) none of these

Q2. Consider the following points regarding the
election of the President of India.
1. Electoral college is not required for the election of
President in India like in America.
2. Candidate's age should not be less than 35 years
3.The base of votes is 1971 census
4. Members nominated in this can also vote
5.There is a provision for preferential voting
Which of the above statements is/are correct?
a)1,2,3and 5
b) 2,3,4,and 5
c)2,3and5
d) all of the above

Q3. The (IBA) have
requested the Central Government to set up a ‘Bad

Indian Bank Association

Q1. HICI TAT §I~FT TIHT I b IRART ITADT &b
9TRAT Tl H 9IRT 37TV 2

a) TSH qoIT 31N

b) AHSH oI Yerch{I foxila

c) TsTH fodiia e edae

d) T P E

O N O\

Q2. WG b Sl & AT o qR H fFAfeARa fomgar o
EELEIN
1.9Ra § ¢ty &b A P feTq 3R T ave et
qUSe &Y Taeghar T8l B & |
2.yl it 317 35 a & o el B anfey
31T BT MR 1971 HY SFRTUFT &
4 3T 10T FeT ot 9 < Adhd &
5.3 AT (DrAf~erreT) 7el BT U erdr &
SR T T FFT H F DIH-A1 Tl 827

a)1,2, 335

b) 2,3,4,31R 5

c)2, 33R5

d) I Tt

Q3. ST deb HY (MM 7 e ARDBR I IR T &
feh &8 TIIIY & UTGeT & BROT el DT B ATel THAH b
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Bank’ to reduce the impact of the losses the Banks
will face because of provisioning for NPAs. Consider
the following regarding the ‘Bad Banks’:
1. A ‘Bad Bank’
distressed assets of a Bank into another Entity.
2. The Economic Survey of 2016-17 advocated that
a Centralized Public Sector Asset Rehabilitation
Agency (PARA) be established to deal with the
problem of the Bad loan.
Which of the statements given above is/are correct?

a) 1only

b) 2 only

c) 1and 2 both

d) Neither 1 nor 2

is a structure that moves the

Q4. Baba Saheb Dr.
experienced
discrimination during his childhood, fought against

Ambedkar, who had
the worst form of caste based

upper caste tyranny throughout his life. Which of the
following associations did he establish?
1. Harijan Sevak Sangh.
2. All India Scheduled Caste Federation.
3. Bahishkrit Hitkarini Sabha.
Which of the statements given above
correct?

is/are

a) 1and2only
b) 1 and 3 only
c) 2and3only
d) 1,2and3

Q5. Which of the Indian States does not share a
land border with Myanmar?

a) Arunachal Pradesh

b) Nagaland

c) Manipur

d) Assam

Q6. Consider the following statements about King
Kanishka in the ancient history of India.

1. Kanishka was a patron of Hinayana School of
Buddhism.

2. He got the commentaries of the Three Pitakas
engraved on the sheets of red copper and raised
Stupas over it.

T T HH DY P [o1T 'S S AT o | ‘s S &
Fay ¥ fFfIRad R o &

1. @ IS §F TP G & O B b B Fheawd
qIRHTRTAT T SAR TS H of ST &l

2. 2016-17 & 3T1ep FI&I0T H S 91T Dl aplerd di T3 ff
e S 30T T AT A Fue & foTq W hiiepat ArdaIfie
& TREYTRT e TORAT (PARA) ehl I bl ST

SR U T AT F J PIF-ATRT Fal 2782
a) BaeT 1

b) daet 2

c) 1 3R 2 g=r

d)Tar13iRTE2

Q4. 96T TS S, 3FaSaR, et sau= § STfer StenRa
ST b A X 0Y DT SFTHT [T o, I8 Sl R
S OIfd & IR & g duy fam SeeF
ffoRad 5 & forsa/ oot Fer/en &t =T $i?

1. BRI 9 gl

2. 3TRgeT AR ST SATfeT el

3. gfesepa fecqepTRuft wum

SR ST MY HUAT § F HH-A1RT F& 81272
a) Paet 1 3R 2
b) deT 1 3R 3
c) a1 2 3R 3
d)1,23R3

Q5. TR BT I AT 5T RIMR & AT f AT AT Tl
IR 872

a) 3roUTTae Ue el

b) ARTIS

c)rrfﬁrg'\f

d) 3T

Q6. IR & UEH 3B H 6T s & IR H
frfeRad wemi W faR ax
1. BTSD Sig T P ST TSR & TRED 2l
2. I8 o fUedi & 9T BY et di Bl ARt IR
Ich 1ol f3RAT 3R Ih HUR U FaY|




Which of the statements given above is/are correct?
a) 1only
b) 2 only
c) 1and 2 both
d) Neither 1 nor 2

Q7. Which of the following text doesn’t contain the
verses of Kabira?

a) Guru Granth Sahib

b) Panch Vani

c) Bijak

d) Sahitya Lahri

Q8. If the CRR (Cash Reserve Ratio) is increased
by Reserve Bank of India, then which of the
following will be the result?

a) Government debt decreases.

b) Monetary liquidity in the economy decreases.

¢) More FDI comes into the country.

d) Increase in credit flow to the disadvantaged
areas.

Q9. In which case the Supreme Court of India has
clarified the principle of 'Basic Structure' of the
Constitution of India?

a) Golaknath Case 1967

b) Sajjan Singh case 1965

¢) Shankari Prasad case 1951

d) Kesavananda Bharati case 1973

Q10. Why is there a great concern about the ‘single
use plastics’ that are released into the environment?
a) they are non-biodegradable in nature.
b) they take several years to disintegrate.
c) they disintegrate into micro-plastics with a
potential to enter the food chain.
d) all of the above.

11.
he walks 6 km towards South, then he walks 3 km

Rohan walks 10 km towards North. From there

towards East. How far and in which direction is he
with reference to his starting point?

a) 5km West

b) 5 km North East

SR T T BT § I HH-A1/ T 5/2?
a) BdeT 1
b) et 2
c) 1 3R 23T
d)Tar13RTHN2

Q7. fFr=IfeTRad 7 ¥ b Pfer 3 PR & B% el 872
a) To U Hrfed
b) U aToft
SEISE
NNIEREEE

Q8. I YRR R9d & GRT HNMRIAR (Cash Reserve
Ratio) ¥ gfg eI SITcit & & 7= & = aram aRurH &2

a) TROR P HOTH HH AT &

b) 3TefeawRlT ¥ Hifd cRaTdT H HHI ST &

c) ¥ 3rftrep Thelars ol &

d) dfare & & 0T JaTE gear &

Q9. | &P Fared AT 7 HRe D HAGT b STERY
i & Rigred T fobdt by o T feparr & 2

a) BT B 1967

b) oo 48 15 1965

c) PRI YIS aIg 1951

d) A TR A 1973

Q10. TR § BIS S dTet 'Tehel SHANT dTel TR’ P
IR A T 1 it i &2

a) d TPl H IR-SRAfSHede &

b) I8 faErfed 8 § &3 ATet o &

c) d TTEN %A H AT BRA T &I b AT F&H RSP
o et &1 S 8

d) SRR T

11. R1ET IR Bl &A1 H 10 km TIeidm & | F8T F a8 Sfor
T 3R 6 km reldll &, R a8 Yd &1 3R 3 km FeId1 8 | T8
370 TR o faeg & e feram # 37 feberei R 87

a) 5 km gfs

b) 5km SR g4
c) 7km‘3IC\'cT




c) 7 km East
d) 7 km West

12. Which of the following words will come at third
place if all of them are arranged alphabetically as in
the dictionary?

a) Entry

b) Efflorescent

c) Entreat

d) Ensure

13. If P is division(+), T is addition(+), M is
subtraction(-), D is multiplication(x), what will be the
value of the expression
12M12D28P7T15

a) -30

b) -15

c) 15

d) None

14. Total number of digits used in numbering the
pages of a book containing 366 pages.

a) 732

b) 990

c) 1098

d) 1305

15. Five bells begin to toll together and toll
respectively at intervals of 5, 6, 7, 10 and 12
seconds respectively. How many times will they toll
together in one hour excluding the one at the start?

a) 7

b) 8

c) 9

d) 11

16. Find the missing character.

3 ?
6561 | 81
a) 6
b) 8
c) 9

d) 7 km ufse

12. 3FR 57 91sa] BT IS JUETT & oA & ST 3ot
976 I H BIAT & T W HIRIT ST & ol I AT 976 R
TR UR 3TRATT ?

a) Entry

b) Efflorescent
c) Entreat

d) Ensure

13. 3FR P 9T (+), T SASI(+), M BEHI(-) , D 0T (x) &
ar ferforRad sdsies T /T A1 812

12M12D28P7T15

a) -30
b) -15
c) 15
d) None

14. Tep febciTel b 366 YBT T 3ifchel bRt b foTq et fperT
digits T TRIRT BT 2

a) 732
b) 990
c) 1098
d) 1305

15. Org GfeAT HHIA: 5, 6, 7,10 3R 12 Hars P IFRTA R
SOt & | TR 3TRY Pl BTs X U & § J foheT IR U
TeF oY ?

a) 7

b) 8

c) 9

d) 11

16. IH T ST BRI

3 ?
6561 | 81




17. Find the number of triangles in the figure. 17. 399 3TTpfa H AT T Teem saran

a) 5 a) 5

b) 8 b) 8

c) 10 c) 10

d) 12 d) 12
18. Which is the number X in the series 18. 3 ST H X GEAT FATE ?
7, X, 21, 31, 432 7, X, 21, 31, 437

a) 11 a) 11

b) 12 b) 12

c) 13 c) 13

d) 14 d) 14

19. In the given figure, how many people study only | 19 & & 3epfcr 7 foba < b 3 fav g € 2

2 subjects? B B
Mathematics / 5\ \ .
y _ aﬂfr;;m >«“ 8 "‘1%‘, 9 - Physics /
athematics / /5\ \ : sifds faea
P . 8 [2) 9 | Physis/ [ 6 X112\
\ 17/ [ st frem N
J X312} \_1°
\ 15 / i
x Chemistry /
Chemistry / TAAT-ATH
THOA-ATH
(a) 11 (a) 1
(b) 23 (b) 23
(c)12 (c) 12
(d) 40 (d) 40

20. A regular die has the numbers 1-6 written on it. | 20. T A Uy &R 1-6 37eh foRg &I &1 Yeb Uy ol i
A die is rolled thrice and the view corresponding to | ST EFTRIT ST & 3R Yeeh T o IR0 g A fagmrar
each turn is shown below. If 4 comes on top, what is | TIT §| AR 4 WY W AT &, AN 3335 qRIT i T

the number opposite to it? YT BNIT?
1 5 3
4 3 6 1 S
(@) 1 o G EZ;;
(b) 2
©) 3 Ec) 3




(d) 5

21. In a row Anu is in the 11" position from the left
and Bhola is in the 10" position from the right. If Anu
and Bhola interchange, then Anu becomes 18" from
the left. How many persons are there in the row
other than Anu and Bhola?

(a) 27

(b) 26

(c) 25

(d) 24
22. In a class of 60 students, where the number of
girls is twice that of boys. Pawan, a boy, ranked
seventeenth from top. It there are 9 girls ahead of
Pawan, the number of boys in rank after him is

(@) 13
(b) 12
(c) 7
(d) 3
23. If WORK is coded as 4-12-9-16, how will you
code WOMAN?

a) 4-26-14-13-12

b) 4-12-14-26-13

c) 23-12-20-14-13

d) 23-15-13-1-14

24,
meaningful word are given. Rearrange these letters

In the question the jumbled letters of a
to and select from the given alternatives the word

which is almost opposite in meaning to the
rearranged word.

MRPBLOE

a) Reply

b) Solution

c) Answer

d) Resolution

25. The percentage profit earned by selling an
article for Rs 2425 is equal to the percent loss
incurred by selling the same article at Rs 2225. At

21. U Ufh § o 90 I 119 T W & 3R 9ielr S &
10&?%@%&%31?@?%%#@@%% ar
mmﬁmmﬁw%wﬁﬁﬁrmsﬁwﬂwéﬁm
fepery cfp & 2

22. 60 BT 6T U el H, TTal ASfBal Hl HT TSh!
TR H ST & | UaHT, U ASHT, HUR I FAES T R E |
WT®W9m5|M|% IGP 915 3 F gDl Hr
TR |

(a) 13

(b) 1
(c) 7
(d) 3

23. 3FR WORK @I 4-12-9-16 ®Is fdHar Sram & ar
WOMAN @7 31T H PIS FHRAT ?

a) 4-26-14-13-12

b) 4-12-14-26-13

c) 23-12-20-14-13

d) 23-15-13-1-14

24. U4 H Uep 37Ul 96 o SeTel gV HER T 0§l 57
31ERT T Yrredaeerd & IR e U fdepedl & § I 9reg T
T DX ST GG 9ed b 3Fef H AT Aol 8

MRPBLOE

a) Reply

b) Solution

c) Answer

d) Resolution

25. W IR BT 2425 39 IR 9+ I ITH UL & 2225
BUY R I9 PR §s BI P SRR 8l 28% T UTH HA P
foTT I I T fpefT hIHT IR ST STHT ATMRY?




what percentage should the article be sold to earn
28% profit?

a) 2967

b) 2679

c) 2796

(d) 2976

26. A shop owner offers the following discount
options on an article to a customer:

1. Successive discounts for 10% and 20%, and then
pay a service tax of 10%

2. Successive discounts of 20% and 10%, and then
pay a service tax of 10%

3. Pay a service tax or 10% first, then successive
discounts of 20% and 10%

Which one of the following is correct?
a) 1 only is the best option for the customer.
b) 2 only is the best option for the customer.
c) 3 only is the best option for the customer.
d) All the options are equally good for the
customer.

27. Kusum was four times as old as her son 8 years
ago. After 8 years, Kusum will be twice as old as her
son. What are the present ages of Kusum and her
son?

a) 32years, 12 years

b) 40 years, 16 years

c) 56 years, 22 years

d) 64 years, 24 years

28. What is the number whose square root is thrice
of its cube root?

a) 64

b) 243

c) 729

d) 1024

29. Ankit and Balbir walk around a circular park.
They start at 8am from the same point in the
opposite directions. Ankit and Balbir walk at a speed
of 2 rounds per hour and 3 rounds per hour
respectively. How many times shall they cross each
other after 8.00 am and before 9.30 am.

a) 2967
b) 2679
c) 2796
d) 2976

26. Ue I T HTfeTd Ueb UTeeh el Ueh av] IR Fi=fe1iRaey
Be ey HaT el &:

1. SR B 10% AR 20%, 3R R 10% JaT &R BT
AT PN

2. 20% 3R 10% BT D BT, 3R PR 10% FaT R BT
AT BV

3. U8l AT PR AT 10% T I &, R 20% 3R 10%
Y ZhfHeh BT T YT Y

fraforRad & & o a7 A8 82
a) UTEd & ol dhael 1 & qaH 3BT f[ddhey &l
b) IED & fofY dHaet I & AT 36T fddey Bl
c) UTEd & ol hael 3 HeRT 3resT [ddhed Bl

d) e & forv Tt fAdhey T U A 3% 8

27.9GH 8 a¥ Ugel U G Pt 3 T AR T off | 8 af
9IS PRIH DT SR 37U 7 I TR Bl QT 81 A iR
D T I AT 3G T 872

a) 3249y, 129Y

b) 40dY, 16 9¥

c) 5649y, 2249y

d) 64ay, 24 9§

28. I8 AT &1 & fSTepT qiiel IFD T & i T
g7

a) 64

b) 243

c) 729
1024

29. 3ifep IR JAdR  Wep gRITeR T OR Fefl &l & Ueb &
fd7g & 8am faoRie famat & =rer € | 3ifdpet I v & W
B¢ H'2 HeFpR Tl € 3R FeTelR Ueb Bic H 3 TehehR oIl & |
3@334’?@(8.00 am 3R 9.30 am & I H fohar IR
feretir?.




30. The age of Harish last year was the square of a
number and it would be cube of a number next year.
What the least number is of years he must wait for
his age to become the cube of a number again?
(a) 25

(b) 42
(c) 38
(d) 16

31. Some lemons are bought at 11 for a rupee and
the same number at 9 a rupee. If the whole lot is
sold at 10 a rupee, find the gain or loss percent.

(@) 2%
(b) 10%
() 1%
(d) 3%

32. A sphere of radius of 12 cm is dropped into a
cylindrical vessel partly filled with water. The radius
of the vessel is 16 cm. If the sphere is submerged
completely then the surface of water rises by

(a) 7cm

(b) 8cm

(c)9cm

(d) 10cm

33. There is a milk sample with 50% water in it. If
1/3rd of this milk is added to equal amount of pure
milk, then water in the new mixture will fall down to

(a) 25%

(b) 30%

(c) 35%

(d) 40%

34. How many numbers are there from 300 to 650
which are completely divisible by both 5 and 77?

(a) 8
(b) 9
(c)
(d)

10
d)y 12

(@) 5
(b) 7
(
(

Q.

) 8

30. foeeT af &1eT T 3TRY Ueb T T & off 3fR g Tt
9 Uep SR T E BT 37T 3T 2 febedT e ebT g
et ST b1 B a7 b Ty I @A ¥ b febert A iR
SIcHTelT T 8T

(@) 25

(b) 42
(c) 38
(d) 16

31. T8 g T W Bl 11 & FAT T TR AT & 3R
I & g Uep 9 hT 9 & ZEE I | 3FR I A Dl T
B9 & 10 & A9 F 9T ST Y AT AT &I Ufererd el
DI |
(@) 2%

(b) 10%
(c) 1%
(d) 3%

32. 3fP FY A UM A R U SR g F 12 J H
ST BT T AT STt AT ST 81 I Pt fAsar 16 A AT &
| IR 7T YRT S ST & A I & H8 S STl &

(@) 7

(b) 8 FHT

(c) 9t

(@) J#r10

33. U U &b HUeT § 50% UHI € | 3R T U feigTs
e S &Y & U A e fam ST & At A1q fsior & ot
IR ST 2

(a) 25%

(b) 30%

(c) 35%

(d) 40%

34. 300 Y650 F ST b s e fb 53R 7T &




35. The value of the expression

1.9565%2— 1.04352
1.9565-1.0435

(a) 3.009
(b) 4.009
(c) 5.009
(d) 6.009

2+ +1.009 is

36.
simple interest both @10% per annum on a certain
sum for two years is Rs 0.100, what is the sum?

(a) Rs 10.10

(b) Rs 11.10

(c) Rs 10.00

(d) Rs 12.00

Difference between compound interest and

37. The value of the trigonometry expression
v1-Sin A
v1+ SinA

is

1+ Sin A
Cos A

1-SinA
Cos A

1+ Cos A
Sin A

1-CosA
Sin A

38. If P is the LCM of 20, 24, 28, 30 and 40, what
is the sum of the digits of P?

(a) 11
(b)12
(c)14
(d)15

1.9565%2— 1.04352

1oses—toaas T 1009 HTHA B

35. 2+
(a) 3.009
(b) 4.009
(c) 5.009
(d) 6.009

36. T & MM IR 10% HT R A Iehdfg 3R ATIRUT T
BT 3R 3 0.10 & | I8 G=RINY fhet 82

(a) Rs 10.10
(b) Rs 11.10
(c) Rs 10.00
(d) Rs 12.00

37. AT @wh
Vi-SinA

——— FHHAE
V1+ SinA

1+ Sin A
Cos A

a)

1-SinA
Cos A

b)

1+ Cos A
Sin A

c)

1-CosA
Sin A

d)

38. 3R 20, 24, 28, 30 31X 40 T TG FAYGI P & | A
P & 37el T I T §2
(a) 11
(b) 12
(c) 14
(d)15

39. In this question, some sentences are given which are on the same theme. Decide which sentence is the most

preferable with respect to grammar, meaning and usage, suitable for a formal writing in English.

(a) The teacher asked the student with a frown on his face, to leave the room.
(b)  The teacher asked with a frown on his face the student to leave the room.
(c)  With a frown on his face, the teacher asked the student to leave the room.

(d)

The teacher asked the student to leave the room with a frown on his face.




40. Write in a correct sequence
(P) which is sold
(Q) for the horn
(R) the Rhinoceros is hunted by poachers
(S) at high price
a) QPSR
b) QRSP
c) RQPS
d) SQPR

41. To turn a deaf ear to means
(a)To listen carefully
(b) To deadly oppose
(c) To pay no attention
(

d) To pose differences

42. In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.
My uncle promised me a present.

(a) I was promised a present by my uncle.

(b) A present was promised by my uncle to me.
(c) I had been promised a present by my uncle.
(

d) I was promised by my uncle a present.

43. In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Indirect/Direct speech.

“Please don’t go away”, she said.

a) She said to please her and not go away.
(b) She begged me not to go away.

(c) She begged that | not go away.

(d) She told me not to go away.

44. In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly
spelt word.

(a) Gaurantee
(b) ltinerary
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(c) Magnificent
(d) Writing

45. A person not sure of existence of God is known as .
(a)Theist
(b) Athiest
(c) Agnostic
(d) Cynic

46. In the following question, some part of the sentence may have errors. Find out which part of the sentence has an
error and select the appropriate option. If a sentence is free from error, select 'No Error'.

| offered him part-time work (a)/ but he turned it over (b)/ saying that he would rather wait for a full time job. (c)/ No
Error(d)

47. Complete the sentence using the appropriate word out of the four options given below:
They are refugeesinneed of ...,

(a) renovation

(b) recapitulation

(c) restoration

(d) Rehabilitation

48. Choose the word opposite in meaning to the given word: APPROPRIATE.
(a) Unskilled
(b) Unsuitable
(c) Unqualified
(d) Unable

49. Out of the four alternatives, choose the one which expresses the correct meaning of the word: RADIANT.
(a) Bright
(b) Beautiful
(c) Light
(d) Influential

50. Choose the best option amongst the given alternatives that reflect the correct use of phrase in the context of the
grammatically correct sentence.
Unless you work very hard......................

a) you ought to be successful
b) you be not successful

¢) you are not being successful
d) you will not be successful
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SPACE FOR ROUGH WORK
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